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Questionl:-Who proclaimed the free primary education at Travancore in 1817

A:-Rani Lakshmi Bai
B:-Gowri Parvathy Bai
C:-Aswathy Thirunal
D:-Sethu Bai

Correct Answer:- Option-B

Question2:-Who was the founder of "Prathyaksha Raksha Daiva Sabha'?

A:-Pandit K.P. Karuppan
B:-Kuriakose Elias Chavara
C:-Kumara Gurudevan
D:-Chattampi Swamikal
Correct Answer:- Option-C

Question3:- Who was the organizer of 'Savarna Jatha' in related to Vaikkom
Sathyagraham?

A:-K. Kelappan
B:-Mannathu Padmanabhan
C:-A.K. Gopalan

D:-T.K. Madhavan

Correct Answer:- Option-B

Question4:-Punnapra-Vayalar Samaram broke out in which year

A:-1946 January
B:-1943 January
C:-1941 October
D:-1946 October
Correct Answer:- Option-D

Question5:-Who wrote the book 'Onnekal Kodi Malayalikal'?

A:-T.K. Madhavan
B:-EMS Namboodiripadu



C:-Ikkanda Warrier
D:-E.K. Nayanar
Correct Answer:- Option-B

Question6:-Write the following events in chronological order
(1) Paliyam Sathyagraham

(2) Kurichiyar Lahala

(3) Channar agitation

(4) Nivarthana Movement

A:-(4), (2), (3), (1)
B:-(2), (4), (3), (1)
C:-(2), (3), (4), (1)
D:-(3), (2), (4), (1)
Correct Answer:- Option-C
Question7:-Who was the first female judge in Kerala?
A:-Anna Chandi
B:-Sreedevi Kunjamma
C:-Kuttimalu
D:-Akkamma Cheriyan
Correct Answer:- Option-A
Question8:-In which year the CMS college and a seminary established at Kottayam?
A:-1823
B:-1826
C:-1813
D:-1815
Correct Answer:- Option-C

Question9:-Which of the following pairs are correctly matched?

(1) Vaikunda Swamikal - Akilathiruttu

(2) Sree Narayana Guru - Prachanna Malayalam
(3) Chattampi Swamikal - Darsanamak

(4) Vagbhatananda - Abhinava Keralam

A:-(1), (2), (3)
B:-(1) and (4)
C:-(1), (3), (4)
D:-All the above
Correct Answer:- Option-B
Questionl0:-The first All Kerala Provincial Conference held at
A:-Manjeri
B:-Kozhicode



C:-Kochi
D:-Ottapalam
Correct Answer:- Option-D

Question11:-Which of the following pairs are wrongly matched?

(1) Deepika - Nidhiry Mani Kathanar
(2) Kerala Kaumudi - Ramakrishna Pillai
(3) Malayala Manorama - Kandathil Kuriyan
(4) Mathrubhumi -  K.P. Kesavamenon

A:-(1), (3), (4)
B:-(2), (3), (4)
C:-(2) and (3)
D:-(3) and (4)
Correct Answer:- Option-C
Question12:-Who wrote the book 'Indulekha'?
A:-Thakazhi Sivasankaran
B:-Chandu Menon
C:-S.K. Pottakadu
D:-T. Padmanabhan
Correct Answer:- Option-B
Questionl13:-World's first Palm Leaf Manuscript Museum in Kerala situated at
A:-Krishnapuram
B:-Mananthavadi
C:-Thiruvananthapuram
D:-Thripunithura
Correct Answer:- Option-C
Question14:-The head quarters of NITI Aayog situated at
A:-Chennai
B:-New Delhi
C:-Raipur
D:-Mumbai
Correct Answer:- Option-B
Question15:-Who is the present election commissioner of Kerala?
A:-Jeevan Baby
B:-Sunil Arora
C:-Saradha Muraleedharan
D:-A. Shajahan

Correct Answer:- Option-D



Question16:-Which among the following objective will be attained when the
students create work on one's own after reading direction?

A:-Imitation
B:-Manipulation
C:-Receiving
D:-Responding

Correct Answer:- Option-B

Question17:-Which among the following tools is referred as an improvement over
checklist?

A:-Rating Scale
B:-Judgement Schedule
C:-Interview schedule
D:-Questionnaire
Correct Answer:- Option-A
Question18:-Spirit of creativity is considered as of a model.
A:-Direct effect
B:-Instrumental effect
C:-Nurturant effect
D:-Null effect
Correct Answer:- Option-C
Question19:-Which among the following ensures the objectivity of a test?
A:-Increasing the number of objective type items
B:-Preparation of items according to blue print
C:-Preparing different set of question papers
D:-Preparation of items based on different objectives
Correct Answer:- Option-A

Question20:-The process of modification in the existing schema, or ideas to include
a new information is

A:-Assimilation
B:-Accommodation
C:-Adaptation
D:-Equilibrium
Correct Answer:- Option-B
Question21:-A, B agmla eemg 1emeanud @ryesmesl@d 4¢-pC =
A:-A—-B
B:-B — A
C:-B — ac



D:-spaiewomongy
Correct Answer:- Option-B

Question22:-e¢ al0Qm @mOAUMGE® ag@oem neme. A (@mynemng)) @eMmamUEMAEN agay
myaflaflesma’?

A:-A @B milame ageR@ MVEUPUNIEMOTIERIE BT aRdhBo DENE

B:-A @l alowe A @es 8@ MetemIalnemasiealss 8@ ARG a@gdGo DM
C:-A Ol dlame A @es 8@ MVMEMIAINEMOTICRIE BT DML aRHBe D6E
D:-spaiewomoagy

Correct Answer:- Option-C

Question23:-moee @mIdlesm ageeEBEled a@@Ism Elamd MaUPUSMEMI Mmoo ageR@d
MeaUPMEMAETIERIMSs 8@ MBElal agdte gCd (P, q) = 1 agay
®MIElEB0M

A:-f (§)=r+q

B:-f (§)=27xat

C:-f (5)=p2x¢?

D:-g&8l@ alosmmemeamaloo
Correct Answer:- Option-B

Question24:-i-3224p5+1=0 oM AVAAVGBIODIHBO PRIEBRUY TVRIMMEEUDENIWIRIEEMEID ABQOYo
arlo gelowleRe gl eadl geiETle@Qe AIBNEREOS D& af)@@IEM?

A:-3

B:-5

C:-6

D:-10

Correct Answer:- Option-C

Question25:-a@ verloaceosicd am qglem oolmlwledein cwiniogses 11
afleydmdlesod 4 allepdodleges of@ oy s)mggce:(ﬁ O OS0!

A:-330
B:-540
C:-5040
D:-7920
Correct Answer:- Option-A
Question26:-P(n) : s"<nineN agm @JaRoQIm WE@IEM® ag)ajoeosm?
A--n=3
B:-n=6
C-n=7
D:-vn

Correct Answer:- Option-C



Question27:-AABC olwd a =2cm,c =4 cm, C = 30° agolad SiNA @es allel #:06me
A:-s
B:-1
C:-!
D:-%
Correct Answer:- Option-B

Question28:-qomay.e., QYODTRal, @RARLENIG. ARITIAUYSS ADBFEUYe DMWY DAL ag)esl@d
@RAIMOS QUYIIEEREHS @RMBADo AB@IET?

A:-3:1:2
B:-3:2:1
C-1:2:3
D:-1:3:2
Correct Answer:- Option-A
Question29:-24 cois®emmud 988 ogQQje 6.201Q VG a@®eM?
A:-120
B:-240
C:-360
D:-480
Correct Answer:- Option-C
Question30:-200 em 17 ©96Mg a0@]4j0@d UWWlae ag)@@o6m?
A:-1
B:-—1
C:-2
D:-—2
Correct Answer:- Option-A
Question31:-moe¢ alo@maI@ ogmoem @emear mueeuy (perfect number)?
A:-24
B:-328
C:-496
D:-528
Correct Answer:- Option-C
Question32:-A 8@ qLn2DE KIClE EREMBIT IO AlOQYMAUWDITE WVGEIWIVD BB ?
A:-A + 47 avlasley @ryem’
B:-A — 47 aVlasley @ryern’
Ci-A + 47 ©a0Bdaum @ryery’

D:-g&8l@ alosmmemeajoo



Correct Answer:- Option-A
Question33:-f(x)=["}" 2czs=, 1 ]

2cosz

2
ag)@@d / iz GRalSlens
0

1
2

1
3

0o w »

H =

D:-spaiewomongy
Correct Answer:- Option-B
Question34:-4:3481:  agarilal amyepom 63 R0Glgperud @REM. 2SIy AB @es 0ss ag)@?
A:-0
B:-1
C:-2
D:-3
Correct Answer:- Option-B
Question35:-am ooma 20€lg’ (42=4) HMO OagM Qll2lB:U3 RO @REM?
A:-o1
B:-—1,1
C-1,1
D:-1, 2
Correct Answer:- Option-A

Question36:-A = [§ 1| eI 4" ag@oem?

B: '[ Fues 1_—42%
C: _[1 +n2n 1:4223}

D-_ 14+3n 1—4n
=l 14+n 1-n

Correct Answer:- Option-C
Question37:- tim, FHE0 =

A:-2

B:-3

C:-6

D:--

Correct Answer:- Option-C

Question38:-fu) = {=521) 540,
1,=0

ag)m a@deolm X=0 agm enilazailwd



A:-dlgaenilsd aslaperglmyaid]

B:-smoe alwomieiss auflrpenglmyaild]

C:-eemo0 alwonilejes awlaysrElmyald]

D:-saie@omoag)

Correct Answer:- Option-B
Question39:-lim == =

A:-0

B:--2

C:-

D:-e

Correct Answer:- Option-C
Question40:-jzy=v2-22 agam ageaomim (0, 0) agomo aws

A:-20gl20 Galo@® @ryerry

B:-adlrilae ean@d @ryeny

C:-avoaulad ealo@d’ @rysm’

D:-spaiewomongy

Correct Answer:- Option-C

QueSti0n41:-£:(86r“Qo R0 QETIY @YW @ ASDEHIMOTIEAO 2Q ©6ng QIUEERUE X, Y ag)mlai@osm’
742y QS aleadd] allel &o6mde

A:-L
B:-v
C:-10
D:-

Correct Answer:- Option-B

1

Question42:-/ﬁd$:
)

A:-0
B:-1
C:--1
D:-spaiewomongy
Correct Answer:- Option-B
Question43:-s2=1y , y2=4z o)V alEoENSH:BEIsDla)ss almdlden. ah®@?
A:-
.10
=3
.
=3

r_16
*73



Correct Answer:- Option-D

Question44:-(2, 0), (0, 4) agar enllnzenglees &SP Ealdd:am &3
QUOOODNOMO CH@o =  GRAUOTIRISEMBITE QYODOTHHMBO @@ af)@® !

A:-25

B:-20

C:-10

D:-5

Correct Answer:- Option-D

Question45:-458 agariar eealmcaIRUEMEDIHMO @MRALIOOD AlBlNIMLASE E6MTE DalNEMEBBUD
@Ry,  A-B={a-bacAbeB} @RI SUP (4-B) af)0moem?

A:-Sup 4- Sup B

B:-Sup 4- Inf 5
C:-Inf 4- Inf 5
D:-Inf 4- Sup =B

Correct Answer:- Option-B
Question46:-A am egomicw’ emug B am 60qjem &g B-4 agomoy
A:-80q46m g’
B:-egroamicwy’ eaug’
C:-830aj6m0 HIMIWo @@ 6IVg’
D:-spaiewomongy
Correct Answer:- Option-A
Question47:-s={r2rc0} @@I@ S &m0 adlW mi@Eses oMo ag@oem?
A:-r
B:-o
C:-r-0
D:-svaie@omongy
Correct Answer:- Option-A
Question48:-» <00 alBo 4, =VAtl-vn G@RQ GUHET)|
A:-enoeemoesoemle; @oey
B:-esnmsreal)’ @rog)
C:-e0waid=d @oey
D:-g&gl@ alosmmemeajoo
Correct Answer:- Option-C

Question49:-jw) -s2zefop={oi231}
L(p,f) d@engallSlesds

A:-2



B:-
C:-L

15
32

Correct Answer:- Option-C
Question50:-;: aller @o6ems

A:-5

B:-car

Ci-c-2r

D:-3

Correct Answer:- Option-A
Question51:-{reclz

z=3
z+3

:2} af) M@ o@@lem amyallaflesmo?
A:-qomo

B:-a1@06e6n0s

C:-agell]

D:-6600a/3csni08

Correct Answer:- Option-A

Question52:-:1: apan agesowiay =0 almd 988 eeo0m® aildlny allaeleeemomicd i emo
WEEMOITM@o aGBMIEM?

A:--1
B:-0
C:-1
D:-spaie@omoag)
Correct Answer:- Option-C
Question53:-7-7-% agm eIdl@d 27-37+5F QS OJOmBBHM afamOET?
A:-0
B:-1
C:--1
D:-L
Correct Answer:- Option-A
Question54:-F=si+yj+:F aga 0GR adledow @6,
A:-cavosiliemocwad
B:-s0mdmo @ardlenilud
C:-e0e0065:u6mmd
D:-saieomoag)

Correct Answer:- Option-C

Question55:-i=37+7-28  5=7-37+4% agarlQl 8@ TLVAIMOGHOTHBO TVHAIQINEEERUE GBRHYWOITD



@pdilemo almildspeamm?

A:-10vz

B:-10v3

Ci-152

D:-15v3

Correct Answer:- Option-B
Question56:-me¢ @MIdleamMIT @@ AUGOTOMBO QGO ojey0lges®?

A:-emndeoe

B:-qome

C:-agellg]

D:-6a0ailgy

Correct Answer:- Option-A

Question57:-#)=2cost7 +2sint 7 +v5t%
0<t<r )N @RAREBIOMO MIBo d:6NgallSlend:

A:-n
B:-2x
C:-ar
D:-4r
Correct Answer:- Option-C
Question58:-eeeim dWe MBaMY RdWe ®elaes cnImw. eIEBASEDM MlRLIMD. ARD?
A:-PlBay eloo
B:-eapossay’ allwos.
C:-enoqy @ilwo.
D:-saie@omoag)
Correct Answer:- Option-B
Question59:-y(1+zy)dz+z(1-2v)dv=0 agaM UlanOMBau@d MLACIG:OBIOMO DRBEWFIEBE an0Bd agmosm?
Az-522
B:-5
C:-ay
D:-4
Correct Answer:- Option-B

QuestionGO:-%+2%+5y:3e—tsint, Y(0)=0, ¥(0)=3 af)aM UWlaNOMHY@ TVAQUIEOBIOMO al@la0d@o
)67

A:-yt)=3etsint
B T=y(t)=3e~tsint

C:-yt)=et(sint+sin2?)



D t=y(t)=e~t(sint+sin2t)
Correct Answer:- Option-D

Question61:-eanmudlar MNOQSs 6@ all®EsMOD©3 (Positively Skewed Distribution)
GROW, aWRBe (Median) agarla mafle)ss enimwe ag)mo@lese?

A:-cooay = awgoo

B:-eoocwy < awyme

C:-caoawy > awyosho
D:-svaiewomongy

Correct Answer:- Option-B

Question62:-am @raceoansm qusmilmoqosil aige (More than ogive) oarlamod agoy
et @asmmonomacem (Measure of Central Tendency) segalslerod e¥lqse

A:-mpdollo aowy (GM)
B:-avameil® aowy (HM)
C:-mowy (AM)

D:-awypme. (Median)
Correct Answer:- Option-D

Question63:-10 -14, 15-19, 20-24 «gorlesemwosm’ 8w @pooiqsiediea (frequency
table) OIS ageEsld 15-19 agm gomilemo gomy @eame. (Class width) ag@woem?

A:-4.5

B:-4

C:-5

D:-5.5

Correct Answer:- Option-C
Question64:-am agleoleea (table) AP0 ®RIOHIHO8 (row heads) aiglesm caueomm?

A:-aent

B:-#®y0aiauad

C:-eoniogy ©ancwy

D:-adl@douwy

Correct Answer:- Option-A

Question65:-100 ogomeanud (Observations) ess em awogew adyledesemioud (Classify)
Y@ OB DEERISEMOATIET Sturge's dloae aloQmMm®?

A:-8
B:-9
C:-4
D:-6

Correct Answer:- Option-A



Question66:-am gomflec: 50 S BSOS D0BRBHBOS BOWo (AM) 23 @ryem. @y gomilad 30

@M E:SIBHBIMSBO®. @OQUGMES moéces;de;gs)s @20WYe 25 @RyEeMEsITd @mmadeag'l&bg@s mo@@saoe:gos QOWYo

af) @67
A:-23
B:-22
C:-21
D:-20
Correct Answer:- Option-D

Question67:-93: ool gao muead:8es @ypdlcie aowy (GM) 9 eryesmelc,
z om0 allel ag@?

A:-9

B:-27

C:-36

D:-3

Correct Answer:- Option-B

Question68:-am aswld womyes alalw caigemrsloal ca® ERCIWIEABIT BBIWE! EAUN®

HEMBIEBMBITEAENTE a@® e MJalsmmonom. (Measure of Central Tendency) erem alo?

A:-20dloflo aowye (GM)
B:-aowy (AM)

C:-owypmo (Median)
D:-acvgmelo aowy (HM)
Correct Answer:- Option-D

Question69:-P(A, B agam DAURBHITH 1200 BOOGRo ) = & eeemslad
P (A Qo B @30) =

Correct Answer:- Option-D
Question70:-4cB ag@l@d  P(a'B)=

A:-p(4B)-P(4)

B:-pP(B)-P(4)

C:-pla)-p(8)

D:-pB)-pP(a)

Correct Answer:- Option-B

Question71:-vema.wessnud (Percentiles), ameocwessud (Quartiles), awps. (Median)
Al MVeeNINWl4] @69 aloQMAIQIE aB® / aBeO®IOE® @R (a7
(i) Pso=0,



(ii) 2;= awymo
(iii) Pso=0,
(iv) 2,= awyso

A:-(i) 20@o

B:-(iv) o2o@o

C:-(i) oo (iv) o0

D:-(iii) &0 (iv) o0

Correct Answer:- Option-D

Question72:-A agam allmesmoamemo #3=-2 .,

B agm almesmomledo #;=0 oo

@ROMBIT ISP al0QYMAURID aR® / aRO®IOED @REM (@7
(l) X(a)<mode(A)

(ll) X (g)<mode(B)

(III) X (g)=mode(B)

(IV) Xw=mode(4)

A:-(i) oo (iii) o0

B:-(iv) ao@o

C:-(iii) oo@eo

D:-(i) & (ii) o0

Correct Answer:- Option-A

Question73:-48 agamlal quio @ DAURSSQYBQYo (Independent events), r)=o4,
P(AUB)=052 @Q0JBQo ©2IQ0@3 P(B) af)@?!

A:-0.8

B:-0.12

C:-0.2

D:-0.3

Correct Answer:- Option-C

Question74:-am a10@3 Q106BRIM EaldGM® @RYI 3 dlaimve. eeauasigle 4 Elaime
HIGMS@IWI5206M). HEOMVEISITS Ealod:EMIOUB EIBANOM BHENFYSOIMES MLOWLD 35% ayo
HOGBMSWIV  ealdsemiowd 70% qmosmy. @erlwmnoel dlesatmgom a@ daimv. (randomly
selected day) omqp @m0 HMEESeOWHEIT @ATY B HIGBMSWIWIET alIGS QUIEEBIM Eald®
af)Mm@eado mueeoam (Probability) «g@?

Correct Answer:- Option-B

Question75:-Fu» am ermlooaeosieao (random variable) alomesm ogsoc. (distribution
function) eesmslcd ®ee es:05EBIBlERM QG:iEREIT WElRPOT® ARD?

A:-F—co0)=0



B:-Fleo=1
C:-F @9l aroomo (Non increasing) awremy
D:-Fa oy aei@alesomes @sda (right continuity) esme

Correct Answer:- Option-C

Questi0n76:-f(x):{%(i;;‘;;fhifeo af)M@ BE MVEIQI® TLIM® a@d:3. (Probability density
function) eresmel@ 'a' es alel ag@?

A:-L

B:-6

C:-9

D:-

Correct Answer:- Option-D

Question77:-x.,X;5... X5 agamlal @oEMOMLo TIO@@2ODISES (independent)
N(0,0?) almesmovless ermloomalesasud (random variables) erem.
18

u=X+X; §o V=) X, ©o @oeem&lad U, V agaria oadlejss muaosnimbwemoss. (correlattion
=1
coefficient) cg@woem?

Correct Answer:- Option-B

Question78:-6¢ 6©8:0501@lEBaM QOB EBREIM GO / aBe®Ied® @R A7

(i) wmymaomimbgss er@l®.alEEBRUW MuImEEEsIdlas. (Uncorrelated random
variables are independent)

(ii) v cRTIV® AR adleBs uanmITW. wmioaidles. (Independent
random variables are uncorrelated)

(iii) x ®0 v &0 e UM @Ml aeasud (INndependent random variables)
@REOMBIT M x_y(t)=M x ()M y(—t) @RWIClEs.

(iv) x¥agom ago @omloo.aeasudas. (random variables) V(X-Y) = V(X) + V(Y)
af) (M@ VBEIWIIElEs.

A:-(i) oo (iV) o0

B:-(ii) @0@o

C:-(ii) oo (iii) oo

D:-(iii) o0 (iv) &0

Correct Answer:- Option-C

Question79:-x agm erMlomacosieado (random variable) m.g.f., =) cresmslod
X &m0 mu.edal® allmesm. (Probability distribution) agom?

Ar-00wye ; @ROIgEs Galo@Emomd allmeemo (Poisson distribution with mean })

B:-20wy 2 @pweiges eaowemiom allmesm. (Poisson distribution with mean 2)



C:-momaanilome 2 @ROIges canwiauem almesmo (Poisson distribution with
standard deviation 2)

D:-20wyp 1 eoeiges eaoaimis allmesm. (Poisson distribution with mean 1)
Correct Answer:- Option-A

Question80:-x ~ B(10,04) agE@d (10-Xx) HMO ML.edAI®INImEsM. (Probability distribution)
)0y ?

A:-B(5, 0.4)

B:-B(5, 0.6)

C:-B(10, 0.6)

D:-B(10, 0.4)

Correct Answer:- Option-C
Question81:-x ~ u(02) age@@d P(X<15) af)@?

A:-0.5

B:-0.25

C:-0.75

D:-0

Correct Answer:- Option-C

Question82:-x agmm @edlomaeoslemo (random variable) m.g.f,, MX(tJ:(%—l—%et)s
@REEMBID P(X =0) af)@?

A-(3)

B:-(3)’

C:-()()’

D:-(3)°(2)’

Correct Answer:- Option-A
Question83:-x ~n(102) ag@lad xemo 51-uoao ea@le eacad (Central Moment) «g@?

A:-51

B:-50

C:-100

D:-0

Correct Answer:- Option-D

Question84:-xy agmm @RI 2lEERSOS (random variables) cu.emalmesm. (Joint
distribution)
Jzyy={e™"¥,2>0,y>0),
0 ; elsewhere):
@eemBI@ X &m0 andwialmesm. (Marginal distribution) agomosm?

A:'%e_%;:c>0

B:-e‘f;x>0



C:-25—25;17>0
D:-ex;x>0
Correct Answer:- Option-B

Question85:-(1, 2), (2, 4), (3, 6), (4, 8) agarla@oem (XY) agom @palom.aieemons (random
variable pair) ges aleieglad x 9. v 9. madless muanenimwwemame (Correlation coefficient)
@7

-1
-1
0

o0 w?>

-1
* 2

Correct Answer:- Option-A

Question86:-am allaie aqu.alwomoslad (bivariate setup) esm cvaowow creaus:ud (lines of
regression) s+2y=133s+2y=31 ag)arlaBem @REEMBIM X 9o Y 9o @aile)Ss Muansnimubwemoho
(correlation coefficient) o«g@?

D:-%
Correct Answer:- Option-B

Question87:-X oY es cag)ss quaowp® quaansy (Regression equation) 3y - 5x + 180
=0 e X 90 Y 0o ondla)ss quaoenirw wemamse (Correlation cofficient) 0.3 o0 Y qes
20 BA@I@IMe (S.d.) 5 o6 @resmslad X om0 acmea@loom. (S.d.) «g@?

A:-10

B:-27.78

C:-2.5

D:-0.9

Correct Answer:- Option-A

Question88:-am V(15 almeemecm mu.enimuly] eigleaw @emvIRaIdlealm (Simple null
hypothesis) @oey esogomildleamalcd agmoem?

A:-Hyp<1
B:-mgu>2
Ci-Hpu=2
D:-m u#3
Correct Answer:- Option-C
Question89:-x.,X5.X, agm@ a@ N(ue?) mlress @oeaslo avomid (random sample)

@ROMBIT ISP HGHISOTIBEBMN QAUIBERSIT aB® /| aRO®IOE @R (@17

(i) * apm@ » MO BB aldylTMoaum. @remy (X IS a sufficient
statistic for »)



(i) %iX “X)’ ag)m@ o2 &MO B
mlayesmgioom wemaacem (biased estimator)

(i) v(x-2
(iv) » emo alle @rdloea@lm 2 ©B0O B aldilTVIaIE. @RS
%Z(Xrﬂ)z
1=1
A:-(i) 20@o

B:-(i) oo (iv) oo

C:-(i), (iii), (iv)

D:-aggjoo vo@losmmy

Correct Answer:- Option-D

Question90:-x,x,%; agm® 8@ N(ko2) Madolcd dlmess @arasle momilud @rsm

7y =235, ) AT o R anandlal £ &80 gane 1EMEBRS06N ag)@slad

A:-T,T5T;5 aggloe » &0 dletiales Msmeeangosm (Unbiased estimator) asoeom
V(T3)<V(T1)<V(Ts)

B:-T: 90 T2 90 U &80 MU B NEMEEBBSEY &SIO®  V(T1)>V(T?)

Ci-1y,75, T3 af)gfo # MO MlaYHY NEMEHEBRBIEM &SIOHD
V(T2)<V(T3)<V(T1)

D:-T.,72T3 e0IO@OM0 4 6MO MlaydH 1M 6B3SSY

Correct Answer:- Option-A

Question91:-x ~ M) ag@l® v=x2 e©mo mu.edaimaalmesm. (probability distribution)
) ?

A:-v},

B:-t

C:-vd

D:-Fua

Correct Answer:- Option-C

Question92:-/(=6) agem au.eoay® almesmamsiear (probability distribution) ¢ es mlauesae
mudleqeo (Unbiased and consistent) wemaaoem T. ag®I@ @69 OBHISOTIBIEBN QIOBEERS]TD
aR® | cBEO®IOE® @R (@7

(i) o2 om0 s dlaysu wemeaceny (Unbiased estimator) 72

(ii) o2 Mo 8@ cudemleinsmendsm (Consistent) 2

(iii) 2 es am mudlemleinsmeaoen T

A:-(i) oo@o
B:-(ii) oo (iii) oo
C:-(i) & (iii) ®
D:-(

) o
1) o (ii) 2o (iii) oo



Correct Answer:- Option-B

Question93:-x.x5..X, agan@ N(xo2) cmuacdloied (population) dlmess em @l mvomiud

@M. ag@l@d avomilud wiemlemo (X) aomaajuess (Standard error) og@wosm?

ete

-Z
" VA

3
LR

oo w2

3L

Correct Answer:- Option-B
Question94:-r[Fis>5]=006 @Ryern. P[F52>u]=094 @rye@em®&lad 'U' &mo allel ag@?

A:-5

B:-10

C:-2

D:-0.2

Correct Answer:- Option-D
Question95:-iw t (4) ag@l@d 2 &m0 all®esme agw?

Ai-Fia

B:-Fay

C:-x%

D:-x3

Correct Answer:- Option-A

Question96:-am adlessmonieomo eeasals ai@eaim (alternate hypothesis)
Hiptl @Reemeslod @oo) 6303 @R)y6m.

A:-eosmainad aidlesem. (left tailed test)
B:-arimanad aidlessm. (right tailed test)
C:-epmao@ aidlesem. (two tailed test)
D:-20me. swemomongy

Correct Answer:- Option-C

Question97:-am muomigledo @rssmoqam mualewsimew (Measurable function of sample

observation) alglesom caueen?
A:-a100010d
B:-@pmlomaie. (random variable)
C:-oomdafwess (S.E)
D:-avoeaigm. (Statistic)

Correct Answer:- Option-D

Question98:-50 @r.venass 8@ maciic (population) mlme. era@acadl® @cl@aem.
(Simple random sampling) almoel 3 er.weargas e mumiglom clessmmgasmeEIc @R

cmvomiglad 5-c0aaomele 10-:0a00mQle 15-2:0000m©Q) @RWEBEU DUBOASIPES MR



(probability) agom?
A:-0.02
B:-0.06
Ci-5k
D:-0.33
Correct Answer:- Option-C

Question99:-em mvomiglonl EREECD ERVETID. avadl® Mu.ss:aes (Random
number) manowermoes TleeammgaRs. AF @RWEROS MRS BalHRM 62l QYL@ (pre
designed pattern) clessomgeneqo ©aQm @@@aimacdgecm (Sampling method)
allglesm caloem?

A:-clrg)@oeadl® ol@ab (S.R.S)

B:-@mmay® woll@atem. (Systematic Sampling)

C:-apdo @aeadlo @ol@asm. (Stratified Random Sampling)
D:-avecar @l@aleme (Cluster sampling)

Correct Answer:- Option-B

Question100:-x,.x;. . X, agm@ 20wl sme (1) eoulges 6@ eanwemmd almesmoricd mlrres
@neaolo (random) auomilud @rysy Yn:;Xz @RI lim P(Y »<n) ag)@?

A:-

B:-0
C:-1
D:-L

Correct Answer:- Option-A



